Al =-0 = = — N PXY
SMIETH20B#1T BT EREE —IHEE RERFIKREE—E
i — P BRI
FEEE X T = = =
51 BB AR/ N 1,339 1473 2,812
%2 HEX IR N 858 965 1,823
5 3 BEEX AL AR 1,288 1,284 2,572
54 FHEX K4 VAR 623 686 1,309
o 5 HEEX 1 HL YLk A suikara 345 406 751
%6 BEX IR /N 516 477 993
57 BEEIX I TG /N 534 568 1,102
% 8 BEEX U ER 635 621 1,256
59 FEX A e 1,050 1,043 2,093
%10 BEX K e NEALE 2 — 677 695 1,372
511 BEX Btk B2 AE 701 761 1,462
512 FEX PCEBRANELZ A RAR 471 518 989
5 13 X TR T E R 883 964 1,847
14 BEX e 780 697 1,477
55 15 KX FRGENFAR 919 952 1,871
16 KREX £ H R 1,239 1,262 2,501
517 X AR TN 641 586 1,227
518 REX [N 891 875 1,766
519 BEX F—U E—\ Naha 1,420 1416 2,836
5 20 BEX E VAR 970 1,015 1,985
721 BEX T E PR 945 968 1,913
B 22 BEX HREZES[EH 616 628 1,244
7 23 BEX JABZebEMERE 403 413 816
5 24 HEX HA& /NP 800 827 1,627
75 25 BEX ik R 1,246 1,319 2,565
%26 FEX 2k AR 597 642 1,239
5 27 X (FANE= 1,175 1,069 2,244
o 28 BEX HZEG R 1,154 1,140 2,294
55 29 X AN 970 997 1,967
% 30 HEX 5 =N 593 602 1,195
55 31 X R A AT 2 745 1,027 1,772
5 32 X AT /N 714 673 1,387
75 33 X 7)1 % N fEfik 2 — 536 646 1,182
5 34 HEX RININFFL 822 837 1,659
75 35 X ARF/NFAL 825 880 1,705
% 36 FEEX PR 1 HE R RE e L 446 452 898
5 37 X IR 605 580 1,185
5 38 HEX e 1,273 1,182 2,455
55 39 BEX AL/ NI 504 378 882
55 40 X JARB b/ k)5 724 635 1,359
541 BEX Bk Sb VAR 1,150 1,086 2,236
542 FEX FR R SRR 818 869 1,687
5 43 BEX /N ST 910 1,041 1,951
55 44 FEX SOX/NFERE 917 884 1,801
55 A5 BEX Ntk 2N AR 1,138 1,046 2,184
B 46 B EX L IRBL AR 1,280 1,317 2,597
5 AT BEX AN EGIIEN AL s 1,043 1,175 2,218
5 A48 P A& ik bt 22— 937 988 1,925
549 BEX EL 53 852 1,030 1,882
o5 11 H R 2 T AT 5,258 6,142 11,400
o5 230 H Bij % EL S35 4191 4,791 8,982
5 331 H AT 22 I 55 i PR P 3,247 3,626 6,873
HAMHRREF |V = —IREAA T LA A 8,093 11,759 19,852
55 53] H BT Be22 A IR 7,180 9,077 16,257
BEh ) B A ZE T =R, FEH#EKR 20 42 62
LIEH &= HEFIAT 308 282 590
& w5t | 69815 | 78314 | 148129
&8 5 1z 7t
4 H A M (A) 119,127 130,704 249 831
BEFH (B) 69,815 78,314 148,129
PR (B)/(A) 58.61% 59.92% 59.29%
B FEMES S (A)-(B) 49,312 52,390 101,702
HHATRE £iH XAEEREZERRL 2 = Hi
55 139 H Al 22y R FTAT 5258 6,142 11,400
5528 B i AT EES I 4,191 4,791 8,982
55 31 H AT 22y 55 i R T 3,247 3,626 6,873
FAM TR EFT | Y= — AT AR 8,093 11,759 19,852
55 53 H Al 22 A HRBIE 7,180 9,077 16,257
BEh ) B gl 2T =K, BEKR 20 42 62
HAEREER &5 27,989 35,437 63,426




